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Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. 1-5 and 16-20 are very short answer questions
carrying 1 mark each. They are required to be answered in
one sentence.

4. Question No. 6-8 and 21-23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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5. Question No. 9-11 and 24-26 are also short answer
questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

6. Question No. 12-15 and 27-30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.
7. Answer should be brief and to the point and the above word
limit be adhered to as far as possible.
e A
SECTION A

1. ‘TETgcaE gHeh! fosivar € : (T fosen g 1
(a) ohad qui Tl

OIEEER U IPE
(©) (a) 3R (b) &M
(d) SRIF & I3 T

‘Homogenous products’ is a characteristic of : (choose the correct
alternative)

(a) Perfect competition only
(b) Perfect oligopoly only
(c) Both (a) and (b)

(d) None of the above
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2. UH ®H o 3AE i shiAd 3R AW & o9 faadia dee gar g : (Ta!
ferehea gfm)

(a) o THITHRR |

(b) haeT TG ST o

(c) THIRIRR TR TehTRreRTiR TfcRNfTa gt &
(d) et qut gl §

There is inverse relation between price and demand for the product

of a firm under : (choose the correct alternative)

(a) Monopoly only

(b) Monopolistic competition only

(c) Both under monopoly and monopolistic competition

(d) Perfect competition only

3. & 3{9d A 9 @ 8 dl diHid dnTd 3R Sed e § w1 gey
BT a?

What is the relation between marginal cost and average cost when

average cost is rising ?
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4. TH ST foh TH awg A AR TREAT o=H W Fa eI
(A7) TR & O et Tt 7| vt feufa o iata seofa : (v fomea
EGLY 1
(a) foq genfea @ rferes anft
(b) e wEmfed & waH B
(c) ofod genfea & & gl
(d) =@ T =
Suppose total revenue is rising at a constant rate as more and more
units of a commodity are sold, marginal revenue would be :
(choose the correct alternative)

(a) Greater than average revenue
(b) Equal to average revenue
(c) Less than average revenue

(d) Rising

5. TRt R A A7 I

When does ‘decrease’ in supply take place ?

6. < el X M Y il Fia-ain o= AT 2 WX -3 ¥ T @
forareh -t o s1feres @ 3fi =i? 3

Price elasticity of demand of good X is —2 and of good Y is —3.

Which of the two goods is more price elastic and why ?
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7. 3AfeRau shiaa T [Hafor s 27 g9eh uftomy ewese?

HIAT

e ISR IHd e shiAd § FH & dl 39 R0 B aTcl TTEl h
TEAT TS|

What is maximum price ceiling ? Explain its implications.

Or

Explain the chain effects, if the prevailing market price is below

the equilibrium price.

8. U IUMIFAl hadl a& aEgaNi X R Y I IUF AT Tl TAH hl
Hmta ITAMTET 2 81 X 3R Y it wfd 3oh1s hivd sFuen: 1%, 92 %, B
AT IUNIFAT TI H & | STHIEAT hi A7 Uil o1 81l ? Aems |

A consumer consumes only two goods X and Y. Marginal utility
of each is 2. The price per unit of X and Y is Re. 1 and Rs. 2
respectively. Is the consumer in equilibrium ? What will be the

further reaction of the consumer ? Explain.

9. 3T oA hl TR ST | STeTehiee 3T SEierTel| IcdTed waAdl

% o= 9e I

HIAT
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AT <kl T SifSTU) 3T 3T uited] amral ok sfi= we hifs)| T
T Tsh—Tsh 3T EIfU| 4

Define production function. Distinguish between short run and long

run production functions.

Or

Define cost. Distinguish between fixed and variable costs. Give one

example of each.

10. <9 U 9% il hHd Ifd 318 12 & ¥ F@RL 15 & 8 St @ al
3curesh 50 faera sifereR s gfd whear ®1 qfd i d w27
giehed i 4

When price of a good rises from Rs. 12 per unit to Rs. 15 per unit
the producer supplies 50 per cent more output. What is the price

elasticity of supply ? Calculate.

11. T a%g &l () 9 hwa § gigad aom (T) Sfaeardt awg it
H TG Rl 9% h! AT W THE G931 4

Explain the effect of (a) change in own price and (b) change in

price of substitute on demand of a good.

12. IMYHH 5 foweryor § Iusied dqe hi I1d Gussy| 6

Explain the conditions of consumer’s equilibrium using

indifference curve analysis.
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13. T qU gfit SR | Feferiad o aiem 993

(a) Sharedl shi oISt BT
(b) T b1 TaTT 7R fehTet it Tarran

AT

Teh AR SR H fferfaa o uftorm awemsu :

(a) AT sl TR fsfaan
(b) TR-shma gfefirar

Explain the implications of the following in a perfectly

competitive market :

(a) Large number of buyers

(b) Freedom of entry and exit to firms

OR

Explain the implications of the following in an oligopoly

market :
(a) Inter-dependence between firms

(b) Non-price competition

14. I8 AH R foh I3 off GE19q vt IEq3Ti & 3Ic91e § Tk 99 38 R
BIAT, 3H o5 1 T T3¢ S refedate Y Icqre &t i fearn R
ST AT g 36eh! forioed ey |

Assuming that no resource is equally efficient in production of all
goods, name the curve which shows production potential of the

economy. Explain, giving reasons, its properties.
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15. ‘ol AEn # ufEd’ IR gl ® ufEd’ % S T aHEst)
T 1 R i) 6

Explain the distinction betwen “change in quantity supplied” and

“change in supply”. Use diagram.

e : haer gy anfar udenfoft & for aea v 15 & @ w)

“agfd amn 4 uieds’ et “agfd § uReds’’ % st sfa aEEg
qTfeTehT =T T3 shifSTY |

Note : For blind candidates in lieu of Q. No. 15.

Explain the distinction between “change in quantity supplied” and

“change in supply”. Use schedule.

LCChc)
SECTION B
16. TSThINIT =I1eT 36 GO Bl ¢ : (T foshed i) 1
(a) AT T
(b) =7

(c) SIS YT HeT 0T

(d) T 2T SIS T

Fiscal deficit equals : (choose the correct alternative)
(a) Interest payments

(b) Borrowings

(c) Interest payments less borrowings

(d) Borrowings less interest payments
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17. 1= foesh fafma daei w sl foesfi fofma @9 ag heema 2
(@t ferehe gffa)

(a) =e TH-a

(b) ISTd wH-aF
(c) Tad Aa-a
(d) TUTEISH g -

Foreign exchange transactions dependent on other foreign

exchange transactions are called : (choose the correct alternative)

(a) Current account transactions
(b) Capital account transactions

(c) Autonomous transactions

(d) Accommodating transaction

18. T2ieh shl giLTT Sifeig|

Define stocks.

19. 3= UsiiTa ufEraftEn & goag | i 78 2 (T fasen gfiw)
(a) cheret AT fererm
(b) Hadt T AI=H
(c) MR foraTg TR Teafyra 3Tere
(d) I AT ATTAT
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20.

21.

22.

Depreciation of fixed capital assets refers to : (choose the correct

alternative)

(a) Normal wear and tear
(b) Foreseen obsolescence
(¢) Normal wear and tear and foreseen obsolescence

(d) Unforeseen obsolescence

LRI 91 § ToTEd ©1¢ 8 37T 19T = 7

What is revenue deficit in government budget ?

Hta 3ud ygfa IR ofEa 399 ygfd | 9 Hifve| T aifeasha
ESRUKIS 1

AT

ST Rl SFH R § SHULH hi [T GHEST)

Distinguish between marginal propensity to consume and average

propensity to consume. Give a numerical example.

Or

Explain the role of taxation in reducing excess demand.

T ST H 100 HUS %. il Faw # gfg & Fror ufa s o
1000 S &. 1 ‘gha g3 | EHid 3um ygf Jra hifsu)
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23.

In an economy an increase in investment by Rs. 100 crore led to

‘increase’ in national income by Rs. 1000 crore. Find marginal

propensity to consume.

STST ShIHd O Hehdd Hod Jhg, J1d i :

() HITHE

(i) = foshi

(i) e A e ufeda
(v) Ffa

(V) UH-IUA I Tl

Find gross value added at market price :

(1)  Depreciation

(11)  Domestic sales

(ii1)) Net change in stocks
(iv) Exports

(v)  Single use producer goods

200
()10
10
120

(Rs. lacs)
20

200
()10
10
120

24. O & Aed GUF FHE GHISC| avg fOHHT % FReT I9e deted
THET 368 FH LTS ¢

HAYAT

ST T T T 3hTs’ Hd aHEs| a5 fafma & R scw wefa
THET 368 LTS ¢
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25.

26.

27.

Explain the ‘store of value’ function of money. How has it solved
the related problem created by barter ?

Or

Explain the ‘unit of account’ function of money. How has it solved
the related problem created by barter ?

TuzTse foh ATl SATaveeRdTd fohd TR 31 g o TR | wersh
Bl 87

Explain how ‘margin requirements’ are helpful in controlling

credit creation?

AW SHAT & SfiE A AR R o folt TR @El !
3| 3T Hehel Wi 3cUTE 3TN FHodAvl W B dTel 9T 1 ferverwor
it

Government incurs expenditure to popularize yoga among the
masses. Analyse its impact on gross domestic product and welfare
of the people.

(a) AW e i@l o fohd 3UoiET H 7R Tord 9§ T 9Ra # foRa
T foraft e &St fomam smam ? =T dif|

(b) a4 fareht e &1 fafme 5t o @ e w2 ? omEs |
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28.

(@) In which sub-account and on which side of balance of
payments account will foreign investments in India be

recorded ? Give reasons.

(b) What will be the effect of foreign investments in India on

exchange rate ? Explain.

LT ST T = ¢ HSTSU KL IR 3TTefeh Tt ol TS o farawor
T YHTE ST o 7T 78 s fora ST gemdt 21

HAYAT

GrhH a51e | TS Tt 8 T A9 3| TS foh TR} s<ie <hl
SFefeere § himd feorar 9 | ford TehR TR forat ST HehdT R

What is government budget ? Explain how taxes and subsidies can

be used to influence allocation of resources.

Or

Define revenue receipts in a government budget. Explain how
government budget can be used to bring in price stability in the

economy.
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29. ‘TR dmd | Feaa T 3ar’ ik Sufdas g o §d

IS :
(FUS%.)

(i)  SafHe H 200
(i) TG qT o 1200
(i) 3faraf & 50
(iv) et 300
(v) Fma 200
(vi) =it e 2000
(vii) 400
(viii) THaa sToeae e 300
(ix) fasn = fHae &R o™ 20
(x) ™ 500
(xi) TITSToRT ST TTHTISTh GRATT TR 250 4,2

Find net national product at market price and personal disposable

income :

(Rs. crores)
(1)  Personal taxes 200
(i)  Wage and salaries 1200
(i11))  Undistributed profit 50
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(iv) Rent 300

(v)  Corporation tax 200
(vi) Private income 2000
(vil) Interest 400
(viil) Net indirect tax 300
(ix) Net factor income to abroad 20
(x)  Profit 500
(x1) Social security contributions by employers 250

30. 39T Ik 9§ S=id g ITH hIFST R 39 Ui # fdu SH a1 =@
AT TG o1 9INT ShifSg)

Given consumption curve, derive saving curve and state the steps

taken in the process of derivation. Use diagram.

e : KA Y farmieiat & foTe wo= ¥ 30 & T W

3TN AT o Feeh THHATST | IUYNT Hoid ¥ sed Held ITH i

Note : For Blind Candidates in lieu of Q. No. 30.

Explain the components of consumption function. Derive saving

function from consumption function.
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